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SYBCOM Business Economics- 11
Sample Question Paper

SLR stands for------
SLR =T faEdR & Fell il

A. Statutory Liquidity Ratio / drmfeier J@dT FHTOT
B. Standard Liquidity Ratio / SHTTOT J@dT JHTOT
C. Standard Liquidity Rate / SO J@dT &<

D. Settled Liquidity Ratio / Y&ATTId IGAT YHTOT

Q2. How many commercial banks were nationalized by the Govt. of India in 1969

Q3.

Q4.

?REQ HEY HRJ ThNRa fohdl SITIRT Shrd ISCIAUTIUT hel.
A. 142y
B. 19/ %%
C.25/39
D. 30/ 30

In classical theory, the level of employment is a function of------

HeTdetare! TGUTarATd SRR drdedl f§ - I Hele TR
A. Price level / fFad drciesr

B. Money wage rate / SeITcfiel adel &3

C. Quantity of Money / %I g&TOT

D. Real wage rate / dR¥dTdeh dclel &

Two sector economy 1model consists of-----

e T rdcager sfaaAAeT ey - HHATISE 3T,
A. Firm and Government / 3¢JTeT E¥AT g ISR
B. Household and Government / ¢l HEIT T AIHR



C. Household and Firms/g@‘q’ TEAT T 3T FEAT
D. Household and Foreign Sector / ¢ F&aT g facelr &

05. What is the most widely used tool of monetary policy?

Fife RIS ASAT JATUMER IRl STV ATET HITA?
A. Issuing of notes / Aterar faaRoT

B. Open market operations / 3T ISR SgdgR

C. Discount rate / §deld &Y

D. None of these / a{TeTdehT ATET

Q6. Banking sector comes under which of the following sectors?

GTellerdeh! HIUTAT 81T S &TATAT 3eold shell SITAT?
A. Manufacturing sector / 3cqreeT &5

B. Industrial sector / 3tz fareh &7

C. Service sector / &1 &7

D. Agricultural Sector / T &5

Q7. Indian Economy is a -------- economy.
HRAT 3dcgaear g1 37eudedT 3%,
A. Socialist / FHTSTATEr
B. Feudal / GLSTTaHT
C. Mixed / A%

D. Capitalist / T8deir

Q8. Structural Reforms are ----------
A. Long term measures / GreTehTollel 3UTIATSTT
B. Improve the supply side of the economy / 3T¥eaa® el [RaaaT

mqr\gﬂm’r



C. Remove growth bottlenecks / farehraTcitel 31Ul gt eTehor
D. All of these / el &9

Q9. -------- refers to the amount of money which is in circulation in an economy at
any given time.

vt fafdrse Sremathid 3deaaedd IR IHUIR Jomr Tehot
qRHATIT FEUTS - g

A. Investment / ITaUTh

B. Demand for Money / 3em=iT #AmeTofy

C. Saving / dd

D. Money supply / ST qRaar

Q10. The reason for the land productivity of agriculture----

A IcUTGHAT HAT IJFHUATT HROT----
A. Natural / a3t

B. Soil evasion / ST &q

C. Lack of capital / HISaelraT 3THTT

D. All above / adTel |9



